2013-05-21 Rabbit 21.5.

Jakotaulut

5 poytaa, 10 paria. Jakomadrd: 14. Keski: 56. Vertailu.

Sija Pari Pisteet % Vert Nimi Kerho

1 3 67 59,8 OUTI SAKAJARVI - RAUNO TASALA Salon Bk

2 8 66 58,9 TEEMU METSANOJA - LASSE SALORANTA Salon Bk

3 4 64 57,1 LEENA MAENPAA - RAIJA BERGLUND Salon Bk

4 6 63 56,3 LAURA ALOPAEUS - SEIJA SUOMINEN Salon Bk

5 7 55 49,1 2 ILMO AROSILTA - JARMO LAAKSO Salon Bk

6 5 55 49,1 0 KALLE KUISMA - ANTTI VOITTO Salon Bk

7 9 53 47,3 MERJA MOLSA - REIJO HAARTOLA Salon Bk

8 10 49 43,8 TAPIO KYRONLAHTI - HANNU LINDEBERG Salon Bk

9 1 46 41,1 JAAKKO VIIMA - PERTTI LEHTINEN Salon Bk

10 2 42 37,5 OUTI YRTTIRANTA - TIMO MAKELA Salon Bk
Jako 1 Jako: 2
Pari Sit LK Tulos Pisteet Pari Sit LK Tulos Pisteet
8 1 2N S +1 S6 150 8 0 4 2 Pass 0 71
3 6 2C S +2 83 130 6 2 10 5 Pass 0 71
7 9 3C S = 54 110 4 4 3 6 2H E = DA -110 4 4
4 2 28 E -1 HK 50 2 6 8 1 28 E +1 D8 -140 2 6
10 5 1s E +1 CA -110 0 8 7 9 38 W +1 C10 -170 0 8
Jako 3 Jako 4
Pari Sit LK Tulos Pisteet Pari Sit LK Tulos Pisteet
9 1 38 N -2 C8 -100 8 0 4 7 4H S +2 HA 680 6 2
4 7 3N W = S9 -600 4 4 5 3 4H N +2 D10 680 6 2
8 2 3N E = S2 -600 4 4 8 2 4H N +2 HA 680 6 2
10 6 3N E = S2 -600 4 4 9 1 3H N +3 CJ 230 2 6
5 3 5Cx W = HA =750 0 8 10 6 3H N +2 D7 200 0 8
Jako 5 Jako 6
Pari Sit LK Tulos Pisteet Pari Sit LK Tulos Pisteet
5 1 3N S +2 H8 660 71 6 4 4D W = S3 -130 8 0
10 7 3N N +2 H3 660 71 8 3 3D W +3 H5 -170 6 2
8 3 3N N = H3 600 4 4 2 9 3N E = SQ -600 4 4
6 4 2N N +3 H6 210 26 5 1 3N E +1 S8 -630 26
2 9 2C S +4 HQ 170 0 8 10 7 6D W = C3 -1370 0 8
Jako 7 Jako: 8
Pari Sit LK Tulos Pisteet Pari Sit LK Tulos Pisteet
7 5 4H N +1 DA 650 8 0 6 2 1H N +2 C3 140 8 0
8 4 4H N = C4 620 4 4 9 3 2H s =37 110 6 2
9 3 4H N = DA 620 4 4 8 4 1H S c4 80 4 4
10 1 4H N = DA 620 4 4 7 5 3H S -1 87 -50 17
6 2 3H N +1 DA 170 0 8 10 1 3H S -1 c4 -50 17
Jako: 9 Jako: 10
Pari Sit LK Tulos Pisteet Pari Sit LK Tulos Pisteet
4 9 3N W -1 D3 100 8 0 4 9 4Dx S = HA 710 8 0
8 5 1IN W +2 D5 -150 6 2 8 5 4D S +2 HA 170 6 2
2 10 4H E = DK -620 35 1 6 2H S =87 110 4 4
7 3 4H W = CA -620 35 2 10 28 N -1 C2 -100 17
1 6 4H W +1 D5 -650 0 8 7 3 3N N -1 S9 -100 17
Jako: 11 Jako: 12
Pari Sit LK Tulos Pisteet Pari Sit LK Tulos Pisteet
1 4 2H S +1 sS4 140 6 2 8 6 4s S +1 H3 650 8 0
8 6 2H S +1 CA 140 6 2 2 7 5D W -1 C9 50 6 2
9 5 3H S = 387 140 6 2 10 3 5D W = C9 -400 4 4
2 7 4H S -1 CA -50 17 1 4 3N E +1 H6 -430 2 6
10 3 4H S -1 ca -50 17 9 5 3Hx N -2 CA -500 0 8
Jako: 13 Jako: 14
Pari Sit LK Tulos Pisteet Pari Sit LK Tulos Pisteet
4 10 5D E -1 CA 100 71 3 1 3D W -3 S10 150 8 0

6 9 5D E -1 CA 100 71 6 9 3C E -2 SK 100 6 2
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